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I T BA I AT A TE I 3 * 40 086 7 690 31919 80.7 17.6 62.2 T BA I AT A TG 3 * 40 086 7 690 31919 57.8 12.9 44.1
B 6721 1231 5 369 12.2 2.6 9.3 B 6721 1231 5 369 12.2 2.6 9.3
PFREAY * 11 081 1990 8 977 21.3 4.6 16.5 PFREA * 11081 1990 8 977 21.3 4.6 16.5
B = = MR % 4 653 998 3 586 7.4 1.8 5.4 BT 2 = MR % 4653 998 3 586 7.4 1.8 5.4
PEEEAR o = MR 10 245 1953 8179 16.9 3.8 12.9 DEERI = MR % 10 245 1953 8 179 16.9 3.8 12.9
AT — e R - - - - - - AT Y — e 2R - - - - - -
AETEFH R B B N * - - - - - - AETEFH R B B E SN * - - - - - -
AR RE I RN 9 3 6 0.1 0.0 0.0 AETERERE M RSN 9 3 6 0.1 0.0 0.0
BEBEIIM RSN GR * 241 51 186 20.1 4.2 15.5 BEREAIHAHI NG * 241 51 186 20.1 4.2 15.5
E RIS RE RN * 63 11 51 1.1 0.2 0.9 E RIS RE BN * 63 11 51 1.1 0.2 0.9
FOINAEA T - DB IR BR B IINGR * - - - - - - FOSMIEA TH) DB IR BE SIS * - - - - - -
EAEVERBAER & =2 AINEL * - - - - - - EAEEFB IR &2 A NS * - - - - - -
PN 3707 821 2 870 20.1 4.5 15.6 PN 3707 821 2 870 20.1 4.5 15.6
JEAE AN 8 2 6 1.0 0.2 0.8 EAE AN 8 2 6 1.0 0.2 0.8
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FRIENERERY S AN () * = = = = = = FRENIE R NG (1) * 0 0 0 0.0 0.0 0.0
AR AR TR AN (1) A * 86 18 67 7.2 1.5 5.6 P— AR PLARE TR AN (1) A * 413 85 324 22.9 4.7 18.0
P AR TR AN (1) 7= 63 14 49 10.5 2.3 8.1 P— AR PARE TR AN (1) = * 86 18 67 7.2 1.5 5.6
H— AR TR AN (1) * 34 7 26 5.6 1.2 4.3 H— AR AR TR AN (1) * 63 14 49 10.5 2.3 8.1
H— AR TR LN (1) * 2 557 471 2 054 9.0 2.4 6.5 P AR A RN () * 34 7 2 5.5 1.2 4.3
I B A E A (1) 168 30 136 0.8 0.2 0.6 IR B LB L EMR (1) 2 557 471 2 054 9.0 2.4 6.5
IR BB S E N (1) 31 5 26 0.3 0.1 0.2 IR B LGB SCE N (1) 168 30 136 0.8 0.2 0.6
St B AL SN (1) 2 0 2 0.0 0.0 0.0 IR B LB s N (1) 31 5 26 0.3 0.1 0.2
IR B LB SGE N (IV) 3 3 0.0 0.0 0.0 IR B LB SE N (V) 2 0 2 0.0 0.0 0.0
I HEN BB SE IR (V) = = = = - = IR B LB SE N (V) 3 0 3 0.0 0.0 0.0
T BRI IR AR i * 5570 879 4 481 5.9 1.1 4.5 T BRI i * 5 570 879 4481 5.9 1.1 4.5
PP AR I AR AR BREEIUR (BE D 7x) * 0 - 0 0.0 - 0.0 TRBEIRE AR I R AR BR R AL (R Be D7) * A0 - A0 0.0 - 0.0
[ BT R (B 72) * 0 - 0 0.0 - 0.0 % Pl R ORBED #) * A 0 - A 0 0.0 - 0.0
IR SR BRI O 4) * 0 - 0 0.0 - 0.0 IR R (BB O #4) * A0 - A 0 0.0 - 0.0
B HRHIRE AT O &) * - - - - - - B FRGRE (I TT O &) * - - - - - -
N IR BB (1) (N EEEBEDA) * - - - - - - NEEFRGTRBRBREA (1) (MEERBEOA) * - - - - - -
I IR BR BRI (1) (RO H) * - - - - - - IR IREBR AR BB (1) (N EHEFEDH) * - - - - - -
TR UGBS RERE B *x 83 031 25213 57 544 11.9 5.1 6.7 T B/ RS B RER B A+ 83 031 25213 57 544 11.9 5.1 6.7
T B/ RS B RER B A+ 61 263 16 713 44 367 11.9 5.1 6.7 I T B/ NS B RE R B % 61 263 16 713 44 367 11.9 5.1 6.7
I T B R R« 33 11 22 0.0 0.0 0.0 T B R T B i ek 33 11 22 0.0 0.0 0.0




